BFRIrGREHR LB XIsmBFIER 7

BAWH) |HiE% EFE g2
HES RS-V PLEPN ERK B3 12.35
BB A= TARERIZTEAN FiF R X 12.05
N ARSI EA 7RIk FNEE ¢ 11.70
JILEPIVE—FKERYSD RER HiE 11.20
S5|/NEF AR ST EA T 11.15
6lLHBPIYE—RIEHSD HE &5 11.00
T A—J&KEIZTEAN I BAX 9.90
glLBEOLE—KIEHSSD BH % 9.80
SEER#IAIEISTHEA WA GER X 9.80
10|[LEPIVE—&KIEIST 1w it 8.65
1[RIERTFEEISTEA Hft HE 8.10




BFRIrGREHR LB XIsmBFIER 7

BABAE) |HEH EFE B2
BB A=TEREISTEA FiF R X
2N RIRVSTEA IR ENER ¢
[/NERKIEVSTEAN B &l
A X AEEIZTEA ERK B
5|ERBAIEISTEA AR GER X
lLEPIVE—RIRYISD RS #BiE
IILBPIVE—KIEHSD B #
glLEPIE—RIRYISD H &%

A= KEHISTEA I BAX
10| ZRmEEISTEA Hft HE
1HILBOIVE—FIEHSD Im &t
12|Usg ATR—Y 95T @A SH Fay




BFRIrGREHR LB XIsmBFIER 7

A
[

EA (Fm)|FE4 EF4

NGRETSIEA IR FE X | 1120

—_—

BB 1=T7HEISTEA FiF R X 11.20

—_—

ERBAIEISTEAN WA GER X 9.25

wW




BFRIrGREHR LB XIsmBFIER 7

BAGE) [FiEs EFE 55
[ RIETERERISTEA ERK B3 13.00
BB A=THRIEVSTEAN FiF R X 12.55
JEERBAIZEISTEAN WA GEd X 11.55
4N EZESSTEA RiRENEL X 11.30
S5|/NEF AR ST EA T 11.00
6|lLEOLE—KIEHSD EH 10.70
lLEPIE—RIRYISD HA & 10.70
glLEPIE—RIRYISD RS BB 10.35
I A—"JKIEHVZTEA ALEERS 9.70
10| ZRmEEISTEA H# =RiE 8.85
1L E—Kigy37 1w it 8.55




BFRIrGREHR LB XIsmBFIER 7

BA CEfT#) Fid4

EF4A Ba
BB A=ZTHEIEISTEAN FiF R X 10.65
2N ARSI EA iR FNEE ¢ 9.95
R L SE Y PAEPN AR GER X 7.45




BFRIrGREHR LB XIsmBFIER 7

[EPNE IS EFH B2
1[/NEFARIESISTEA TR ENER
2| RIRHAIEISTEA ERAR B3
S|EBYAZTIRIEISTEAN FIE R X
4/NEFEIRISTEA Bl &

S5 ERBAIEISTEA WA JER X
lLEPIYE—IKIgHSD RE BiE
7ILEPIYE—KIgHsS5D HA &
slLBPIYE—RIESSD BEA #

A= KIEISTEA I B
10[LBEPLIVE—FKIEHSD iImE Eit
[EXEHERISTEA Hf =iE




